2

A i
A S Vi e &
VR AN AN A Nl = ey

A

A WA

g 2

BB ASE - BT AAE - WBEoRl
PP

200 26FE




Jooooooug
Joooogodoonod

godd
gobooog

2003000 200

o0

gboboooooboobobooooboboboobboobo
gbooboooboboobooobobooboooboboobon
gbobooboboboboobuoobobooboboobon
gboboboboboooonooooooboboboboobd
goboobooboobboobooboo

gboboobooubobooubobobobooobobobo
gooboboobooboobobooobbobbooboobon
gbogbooboboobobuoobobuoboobooboab
gboooboooboboboboobooobobobooboobon
goooboboooboooboboobooobobooooboo
gobooobooooooooo



0 O

1

5

6

gooo

gobobooooboo

goooooon

gbobobooodgoboo

goo

g

A 0O00OO0DOOO

A1 O0O0O0O000O ... e e

12

14

14

16



1 0000

00000000000000000000000000000000
0000 [1)000000000000000000000000000
000000000000000000000000000000000

0000000000000000000000000000000
000019450 7000 1000 100Pengo0 0000000000 10
00000000 6x 10%Pengo0 00000000000000000
010 Pengo000000000000000D0O000000O0OO0
0 [2]0

0%t ¢

]U]D;

| ,..,,.,,.,_,..,,..

| 5: ,‘».‘."4‘.’,_‘ '

-’,..’*-" | | ‘ I
l(days)

O L00000000b0gbogn Pengo 00 obooobgbgn
oboboobo 1945000 1b00booboboobooboon
gog

gi1gbooo«tg220000000000000000bboboo0af
gbduububoooogodgoboodgbdbobobobobobobo

P(t) x ™. (1)

goboboboboboouoooooobboobbooooooooobo
gobbbbobboouooobbbbbboooooooobbbo
gboboboogobbobuoooobbbuoooobbooooobboon



logP(7)
*

B +
10 ’
¢ \ ! \ \ \

| |
240 280 280 300 320 340 360
t (days)

0220000000000 Ilegb0b0b0ObOOnoobuonoOoonDg
gbboboooobbbuoooobbob

2000 1020000000000 0000000ooobobn
0000000000 RI00000000000000000000O0
gobobooooobobbooooboboooooooo

P(t) o< e*”. (2)

gobbobbobouoooooobbobbbouodooooooobbo
goobbobbbooddooooooobbbboooooooonoo
gbboobuogobooobooobboobbuoobbooobood
goodbdbogbouogbogbogoobobbobbobbobo
0000000000000000000000000 [2,3]00000
gobbobbboogooooobbobbbboddooooooobooboo
gobbobobbouuooooobbbbbbuoooooobobobo
gboboboooobbbooooboboooobbobuoooobo
g20b0000b0boboobobbobbobbobooboob
gobbobbboddooooooobooobbbooooooono
gobbobobbobououooooobbboobbodooooooobbo
gbobobobbodoooooobobbbbbbooooooooobboboon
gobobboobboooooooobboobbbooooooobbbo
gooooobobbbobboboobbbbbbbooooooooooon
gbobboooobbbuoooobn



2 OOoooboooooon

Oo000oooooooooooooooooooonoooooon
000000000 40NDOOOO0OO0OO0OO0OOOO0OO0OOOOOO BOO
000 S, (1<¢«<N)DOO0OO0DO0OO0O0O0OO0OO0OODOOOOOOoOoOoOoO
Oooooooooon

S;—B; >0 (3)

oo ooooooooan
0000000000000 ,OOO0O0 s, 000000 A0O0OO
ooooo

S, — B0 A (4)

oot 00o0o00doonjsj0oooobodoooooooogon
god
B; > 5 (5)

00000000 (4)000
Bi—B; > A (6)

0000000030 00o00o00 4)ooooooooooooo
0000 {B;}000000000OoOon
oboNODOOobOooboboobooboboobooooboo
goboboboobboooooooboobbbbodoooooooboo
0000000000 (p)00000oooooooooooOooo

max B;(t) — min B;(t) > A (7)

000 ((04)00000max 0 min000000:00000000000
gbooooogobod



Pt

03 0dboobgobobb:00b0obbyb00b0o0obobn
gobboobbooooooooobbobbouoduoooooobobo
oogd

0000 P)000DOODODOOODOOOOOOODOOOOOOOOO
0000000000000 0O0O0O000ooooOoOo0ooD PHOO
gobobouoooon

(max B;(t) + min S;(t))  (max B;(t) + min B;(t) + A)
Z : =— : (L(t) = A),
2 2
P(t) =
P(t—1) (L(t) < A).
000 L(t)D000¢t0000000000O00o0oooo
L(t) = max B;(t) — min B;(t) (8)

gooo



2 Gl ) AT
i P ( 1)

f .......... / ﬁ % i
I

N 4
' L

NADT 4 —TF —

04 000000 NODOOOOOOOOODOOOO200000000
obooobogobobooobbooboobb 3sboooboobo
gboboboooobbbouoobbob200000bbooogn

gttt ooooooonon
Bl(t+1):Bz(t)+az(t)+CAPpreV (9)

OO0DO00AP,. 00000000000 O0O0O0O0O0000000000
gboboodgboogbbogbbogboobuoobbuoobbitedD
gboboboooobboooobobod

00 e(t) 0000000000000 000O0O0O0O0O0O0O0OO0O0O0
gobbboobobbooudgoooobbobbouodoooooooboboo
gobobobbboobobbbbobbbuodouooooooooobobobo
0000000000000 000000000000000Oa(t)0
gbobobooodgobobod



;()|00000000000000000000

—le;()|00000000000000000000

;(t) 00000000000 0ODODOOOODOOOOO,
ggbobobooogbboboooobbbuoogaobo

00000000000000000000000000000000
0000000000000000000

000 a(0)0 B;(0)000000][—a,a]0[100,100+ 4000000
0000000¢t=000 P(0)=00AP,., =00000

0000000000000000000000000000000
0000000000000000 NOa(t)O B;()00000000
00«0 000 ADOOCOOOOOO AP, 00000000000
000000000000



3 Oooooonbn

g20000d0dggoobobobbboboboboooodoooood
gbbbuoooobbbuooobbboooobbbuooono

goobbbobotboddooooooooboobobbboooooood
gobobobboobobbbbboddooouooobooooooobbbo
gobobobobobbboodooooobobbobobbbooooooooboboo
gobbbobobbuouooooobobbobobbboouoooooobo
obooboboooboooboobuoob N=50o000b00oobooo
090%(45000)0000 10% 00 0)000000000000000O

gsbdedibobbodbobogbbobobobbooubibde=
050 =030p3=500A=200000

O6000t01.5x 101004 10'00000000000000O0
0000000000000000000 PO P xe*00000
gogooboboooobbbooogobobooon



1200

1000 /|
800 pd

600

400 e

P(r) (ffitg)
\

200

0 5000 110* 1.510* 210" 2510* 310* 3.510* 410°

r (B¥fE)

05 0000000000000000tO000000 P)OOODO

10



1000

P(r) (ff4&)

100
0 5000 110* 1510* 210* 2510* 310* 3.510* 410°

r (F§R)

06 0s50000000000000O00DODOODODOODOD
0000 42x 10°0000

11



4 OO0O0O0O0OOO0OOOOO

goobboobobbbdoooooobbbboobobbbdoooood
goboboboobboouoooobobbobbbbooooooobbo
goobodgd
gbobbuoodbbooobboobbuetbuooubbodd a
goboboooobbboooobboboorTogbo
Or7obobobodbobooobooobboobbooobobooon
gobbobobbodooooooboboobobbboooooooooboo
gobbboobobbuouooooobobbobbboouooooobbo
gobobobobobboooooobbobbbboddooooooboboo
gobbbbbuduoooooobobbbbboouooooobobo
OO0 N=500000c=050a=0300=500A=200000
gbooglbooogbbloboleobboobugbobuodgbood
gobobooooobbbooooboboooooooo

12



0.00014

0.00012 f
S 0.0001
5
A 5
8 10
N
AN
N 610°
410°
/o/./
210° T/./‘/
80 85 90 95 100
BELVFOEIE

07000000000 O)000000000OO00OO0OOOOOO
goobobod et

13



5 LUO0

gboogbdogobobbooobobobboboboobooboon
gbouobougboobboobogobboobbobobboobon
goboboboobobboooooooobbobbbudooooooboboo
gbbogboboodbbboogbobooobuoooboooboboood

gooboboobbboboodgooooboobobboodooooood
gobbbobbbuouooooobobbobbbboouooooobbo
goboboboobboodoooobobbobobbbooooooooboboo
gbobobuoooobbbooobbbooooboo

6 UU

goodgbouboobbobboobbobobobobboobooan
goooboooobobgboboboooboooooooooogb
gboboboooobbboooobboboooobon

14



Ooon

1] D0O00OO0O0O0O0O0O0O000D0DO0O0DU0DO0OOobOOoOoOoODOODODOOO
gbobooboodon20010

[2] T.Mizuno, M.Takayasu, and H.Takayasu, The mechanism of double
exponential growth in hyper-inflation, Physica A 308 (2002) 402-410

3] 00000000000 0OOO00ODO0OooODODUOOoOOOoOoooO
oboooogd20020 300 78-83

4] O0000000000000000MOO000000000020000

15



A 00000000
Al 00000000

#include<stdio.h>
#include<stdlib.h>
#include<math.h>
#include<time.h>

#define _NTRADER 5000000
#define t_max 40000

int main()
{
int i,imax,imin,t,urite=0,kaite=0;
double lambda=20.0,delta=0.0;
static float B[_NTRADER],B_max, B_min,a[_NTRADER];
double L,P,P1=0.0,c=0.5;
FILE *0QUTPUT;
OUTPUT=fopen("market.dat","w");
srand ((unsigned)time (NULL)) ;

for(i=0;1i<_NTRADER;i++)
{

}
for(i=0;1i<4500000;i++)

{
al[i]l=((double)rand() /RAND_MAX)*0.3;

x
for (1i=4500000; i<_NTRADER; i++)

B[i]=((double)rand() /RAND_MAX)*50.0+100;

al[i]l=-((double)rand() /RAND_MAX)*0.3;
}
for (t=0;t<t_max;t++)
{
B_max=B[0];
imax=0;

for(i=0;i<_NTRADER;i++)

{
if (B_max<B[i])
{
B_max=B[i];
imax=i;
+
}
B_min=B[0];
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imin=0;

for(i=0;i<_NTRADER;i++)
{
if (B_min>B[i])
{
B_min=B[i];
imin=i;
}
}
L=B_max-B_min;

if (L>=1ambda)

{
P=(B_max+B_min+lambda)/2;
printf ("%d %fn",t,P);
fprintf (OUTPUT,"%d %fn",t,P);
delta=P-P1;
P1=P;
if (a[imax]>0)

a[imax]=-a[imax] ;
ke

a[imax]=a[imax] ;
if (a[imin]>0)

al[imin]=a[imin];
else

alimin]=-a[imin];

S S e S Sy

else

{
+

for(i=0;i<_NTRADER;i++)
{

B[i]=B[i]+a[i]+c*delta;
+

P=P1,;

17



for(i=0;i<_NTRADER;i++)
{
if (a[i]<0)
{
urite=urite+i1;
}

else

{
kaite=kaite+1;
}
}
printf ("%d %dn",kaite,urite);
fclose (OUTPUT) ;
return O;
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